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Liberal candidates : Votes
Ames 523

hS'::;;;;;;;;;:.-'-'--!:?
Jones 425

Total
~

Labour candidates : Votes
grown 1,204
Casey 6pi

Total 1,895

Conservative candidates : Votes
Dare 804
Good ig6

Total 1,000

The successful candidates were as follows :

Labour : Voters
Brown representing 1,000
Casey representing 895

Total Labour vote 1,895

Liberal : Voters
Fnar representing 1.199

Conservative : Voters
Dare 1,080

Improper Representation

Liberal voters were in excess of the Labour voters
to the extent of 205 votes on the first count (2,100
minus .1,895 equals 205). It is therefore obvious
that two Liberal candidates should have been
elected and only one Labour candidate. Labour
was only entitled to one representative on the basis
of Its voting strength. The Liberal voters lost
one-half of their representation because a number
of them "plumped." 821 votes were lost in this
way, all of them being Liberal ballots at the be-
ginning. If those 821 ballots had been marked so
that they could have been transferred to Ames, he
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